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<% Length oY N metre ‘m
el Mass 77 kilogram kg
P[] Time *} second S
4. Electric current F'5E ampere A
?EL@ Temperature Il E'Z kelvin K
A3, Luminous intensity £k candela cd
77 B Amount of substance TEgy mole mol
31 PRSI R R A T
25 £7 BBl K
T e Planeangle 1% radian rad
4| Solid angle -+ 3% steradian s
7 Area 21 hectare ha (=10'm?)
ITEl Mass [P tonne t (=10%kg)
#i5k Freguency #¥ hertz Hz (=1s")
|1 Force -t O newton N (=1kgm/s?)
<)) Pressure © 127 pascal Pa (=IN/m?)
|1 Pressure 1% bar bar (=10°Pa)
JEVE Temperature %—'{ A degree celsius °C (=K-273.15)
f- £l Energy £ X joule J(=1Nm)
'*F%‘*JJ Power SUFE watt W (=1J/9)
3 Luminous flux V7] lumen 1m (=1cd/sr)
PR 1lluminance Hr ga 77 lux 1x (=1b/m?)
3/7% Kinematic viscosity 27l stokes & (=10*m?/s)
ﬁﬁiﬁ@ Dynamic viscosity If I poise P (=10"pas)
# 7 Volume ] litre L (=1 dm®)
”F%Ei Electric Quantity B ffi7] coulomb C (=1Ay9)
%—'@ Electric Potential Hq% volt V (=1IW/A)
'}{5 Electric Resistance i ohm Q (=1V/A)
?q*}k Electric Capacitance b 57 farad F (=1A2/V)
W’EE Electric Inductance A #| henry H (=1VdA)
RS APRS +  IE PSEMAL ] b - - 245 - [t % g g .
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PR

i P ki
10”2 tera T
10° giga G
10° mega M
10° kilo k
10 hecto h
10t deca da
10" deci d
10 centi C
103 milli m
10° micro v
10° nano n
10" pico p
10" femto f
10 atto a
~ T
=% LENGTH
~ilem = 0.394in 4 e 1in = 25.4mm
~HNdm = 3.281 ft i ML = 3048 cm 2 53
2N Im = 1.094 yd 4.4l HiiE 1yd = 0.9144m 1l
SEN1km = 0.621 mile ! Eimile = 1.600 km > £
S fEF1mm = 103 pm K
E# AREA
A5y Lem? = 0.155in* = ;[ TN 1in? = 6452cm® T H 5
THANIM = 10.76ft0 T P THPLRE = 0093m TR
A RN km? = 0.386 mile® T ¥ THELlyd = 0836m’ T H A
S filha = 2.471 acre i fix T FIEI 1mile® = 2590km? = 4 El
ik 1 acre = 0.405 ha * i
%7 VOLUME
A ARIm = 353U bR S 1in® = 16.39cem® oSS
A aNImt = 2201mpgal F 4L = 0.0283m° i
dyARIm = 264USgd I SR = 28.32litre 2
dA I m? = 6.29 barrd ffj - PRIt = 6.23Imp gal Hup
2 H 1litre = 0.221mpgal i 4PN Lfe = 7.48USgd X6
] 1litre = 0264USgd 3918 = lpint = 0568litre t 7
h filbard = 42USgd 3
filbarel = 159litre 4
RS WP 4 2 FSA > TR - - 246 - S B




% VELOCITY:
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SHRF Amis =

2.24 m/h (mph) * N/

[R/Ep 1 ftls (fps)

0.305m/s * N/F)

R 1mds

3.28 ft/s (fps) [F/F)

2 HUEE 1 m/h (mph)

0.447 m/s T EIF)

N EIFE 1 km/h

27.78 cm/s 53 [F)

B 1 m/h (mph)

1.61kmh 7 B/

A EIEE 1 km/h

0.911 ft/s (fps) [R/F)

PR/ 1 ftmin

04721/ = F| I

SAFF Als = 21291 min o PRy | S HPRF LY = 0.028 m/sH 2 NF)
¥El MASS
207 1kg =  35.27 ounce il w4 il 1 ounce = 28.359 ju
S 1kg = 2.2051b % % 11b = 04536 kg 7
S 1ton = 22051b 1% F ik 1owt = 50.8kg ‘t7
S 1ton . = 0.984 Impton i Hi % 1 Imp ton = 1016 kg ‘7
JPE 1ton = 1.102USton S 5 F P 1USton = 907kg * 7
fEt 1 grain = 64.8mg &l
W DENSITY:
0.448 graing/ft® 16.02 kg/m’
A e T 3 = [~ 3 =
SRS gm P/ R Al L Ll SR AR
.~ . 0.1 1b/Imp gal 0.1605 Ib/Imp gal
Sk AN Lkgm® = , B P LI/ = ,
J g @/ﬂg'\np FA'I ﬁ s @/ﬂg'\np FAII
- . 0.8351b/US gal 0.1605 Ib/US gal
A A Lkgm® = , Z/ 4P 1 bl = ,
] ’ 9 @?/%ﬁpﬁ e @?/%ﬁpﬁ
.y _ 99.8kg/m’
7@,/% JDFA'J lib/impga = S R
119.8 kg/m®

By PRESSURE:

/5.7 11b/IUS gl

SO [y R

“1 1pa = 1N/m* 5 g/ 4 2 A “1g 1 bar = 100 kpa {F*'!

“1 1pa = 0.004 inHO [ 7f<f= %)/7 7 11bf/in*(ps) = 6.895kpa [F=!

(f91 1kpa = 0145 Ibfin(psi)i o/ i | FE: 1inH,0 = 249pa !

(Fel 1kpa = 0.292inHg [ <4l i 4= 1inH,0 = 5.2 b/ /T R
(Fe0 1kpa = 7.5mmHg £k of<EL -]k 1inH,0 = 0.433 Ib/ird %/ 4]
UGB latm = 760 mmHg % f A<l 11450 1inH, = 3386pa ©'1

A GES lam = 14.696 Ibf/in® @")J/ﬂ‘ e SEre Ltorr(mmHg) = 1333 pa“!

G lam = 101.3kpa (¥

14 FORCE:

FUEH AN = 15°dyne 3 5] Llbf =  4.448N

e 1N = 0102kgf 7 ‘ﬁiﬂﬁﬁ’ﬂ 1 Imp tonf = 9.964KkN [ i
FOHAN = 0.22481bf SR Lkgf = 981N F

TR OSAPRS + b 2 IR SR Py - - 247 - Vit e il e
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B2+ T « 2 ENERGY:
R = 0239cd | FIFRE o IMBTU = 10°Btu SUEH b
£31) 0.738 ft Ibf % FERLR 1 kwh = 360MJ I LT
£ = 107 ergs W% 4 lcad = 41870 £F
[rer 1k = 0.948 Btu LB Hl 1B = 0.252ked [T |
A 1M 0.0095therm { Pyt | st 1Bty = 1055kJ [FE
glﬂfl 1MJ 0.3725 hp hour [5,- PEE A 1Btu = 0.293 Wh [t
[T 1M 0.278 KWh ¥ { Al them = 10°Btu Jsfiis
£ 1ked 3.97 Btu Ui i 1 %J%ﬁ?ﬂ it 1therm = 1055MJ fFifyf

F&9F 1 hp hour

2545 Btu il i

fFJ HEWE 1therm

= 2031kwh [FUf

U Lhphour = 2685MJ {14~ Pkﬁgg Js 1ftIbf = 1356J &
774 POWER:
% 1W = 086ked [T} W 1Bwh = 0293w
KA = 3412Btuhr HEEAEE | L/ lked/h = 1163w
SUIW = 4425ftibi/min Py | B Lhp = 0.746kw (7
[T 1kw = 3412 Btuhr 1}3“1%? i I 577 1hp = 42.42 Btu/min JLEH /55
7 lkw = 1341hp £ B anp = 33000 ft Ibf/min [ ]2/55
("% 1kw = 859kcal (¥ '
5 1kw = 56.87 Btwmin HuEtiiib /5]
5 1kw = 3600 KJhr [ &= /i
- 0.034 Therms/hr |
5 1kw = )
Py o
Z\l ~ 248l THERMAL / HEAT UNIT:
i ,'JJ,%:'/ S _ 2388keal/kg FE L PR 37.26 kIm?
1MJkg YA 1 Btu/ft® [ =y YR
Pz _ 430Btulb REFEAONG _ 282.1kIm®
1 MJkg W 1 Btu/Imp gal (T 6 1y R
Frfgfs ol 2684 Btu/fe® REG GG 2787 kam®
1MIm? BV /S AR 1 Btw/US gal ARV L O A
+1 _ 4.187kJkg SO o Ik _ 0556 calg
1calg [FEZ N 1 Btu/lb T
s VAR _ 1.8Btulb REHE _ 0556keallkg
1 keal/kg JEHT I 1k 1 Btu/lb SRR
| I 115 _ 2326kJkg
1 Btu/lb PRI

¥ Frﬁ*f”:;:t 1 4~”rﬁ )

+ 2 IE P TR -
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Z HEAT CURRENT UNIT:

SNSTEMS
Sanpes®
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KV TIARN _ 0317 Btu/ft*h FELH [ PR _ 3155 w/m?
1 W/m? HEH 1 A P 1 Btu/ft’h AL A
Rt 860 kcal/m?h R YERTE _ l1e3 W/m?
1 kW/m? A P 1 keal/mP/h AT A N
RS HEAT DENSITY:
FA 2 96,6 Bruftth S 1 P _ 103sW/m’
1 KW/m’ SE O/ P 1 Btu/ft’hr S
FFa 2 860 keal/m?h FEgoret T N _ 1163 w/m?
1 KW/m® AR YA 1 kcal/m¥hr Ly Y R
B ETR
bar kg/em? lb/in® atm T : T (15°C.)
m n m n
1 1.0197 14.50 0.9869 0.7500 29.55 10.21 401.8
0.9807 1 14.223 0.9678 0.7355 28.96 10.01 394.0
0.06895 0.07031 1 0.06804 | 0.05171 | 2.0355 0.7037 27.70
1.0133 1.0333 14.70 1 0.760 29.92 10.34 407.2
1.3333 1.3596 19.34 1.316 1 39.37 13.61 535.67
0.03386 0.3453 0.4912 0.03342 | 0.02540 1 0.3456 13.61
0.09798 0.09991 1.421 0.0967 0.07349 2.893 1 39.37
0.002489 | 0.002538 | 0.03609 | 0.002456 | 0.001867 | 0.07349 | 0.0254 1
TEIETR
S /53 /53 24 RS A R
gal / min gal / min m?/ min CMD
1 0.8325 0.003785 5.4505
1.2011 1 0.004546 6.5462
264.19 219.94 1 1440
0.18346 0.15273 0.006944 1
ekt A,
| R} rv )Y T S ERUE
KW HP Kg-m/sec
1 1.3410 101.97
0.74569 1 76.0375
0.7355 0.98635 75
0.009807 0.01315 1
SHTE B AR o I P ] P - - 949 - Vit e il e




< mseorg
> s

& 4

u

(%) 2

7@% Al

A
ls3g SV @

G F S

REIF = -27315°C or -459.8 °F
1C= 18°F
1°F= 055 C
o —_ i T ° = i ]
C = > (‘(F-32) F = - C+32
C = (F-32+18 F = (1.8x C)+32

2R R

G
e g

12,000 Btu / hr FUEwH i [t
3024 keal / hr ¥/

. - = | 1KWH [ p

1 Ton Air Condition
= | L341HP E )
= | 10t° 2 R A

gﬁ'@-\v_lj = | 345Ib/hr @/Eﬁ (f£-100°C SENCES 100°C 34%)

LHp Boiler = | 1568kg/hr 27/ (7-100°C {913 100°C F41%)
= | 8454 kca /hr {* {/E%f

N ﬁ]mﬁ@ﬁﬁ jﬁ'\_}y 15 @&&" rjjlg_;lg ‘E",gﬂ 24 J Eﬁ}{j "\ﬁﬁ 0C F[fjffﬁgjgi}‘, 0C FI’:J‘UJ\AFI’;J\(ﬁYFpﬁ:jJ

1 RT = 1000 x 79.68 + 24 = 3320 kcal/hr -

K ERI kLR S AR 1T [ R 1 2 P 100°C s PRy 100°C AR AR -
- [N
SCH40(9) 'E?J/ IgSEl FLOW EXPRESSED IN SQ.FT.EDR
STEAM CAPACITY OF ASTM SCHEDULE 40(S) PIPE AT INTERNAL PRESSURES OF 3.5and 12 PSIG
Nominal PRESSURE DROP- PS| PER 100 FT.IN LENGTH
; 116 PSI /8PSl 14 PS 12 PSI 3/4PSI
2‘2’2 (10z) (202) (40z) (802) (1202) LPs 2Psi
Inches |SAT.PR.|SAT.PR.|SAT.PR. |SAT.PR. | SAT.PR.| SAT.PR.| SAT.PR.| SAT.PR.| SAT.PR. | SAT.PR. | SAT.PR.| SAT.PR.| SAT.PR.| SAT.PR.
35 12 35 12 35 12 35 12 35 12 35 12 35 12
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
34 36 44 56 6 80 96 116 140 144 172 168 200 240 292
1’ 68 84 104 124 148 184 216 264 272 328 324 380 456 548
1LV4 | 144 180 212 264 312 384 444 552 560 680 648 800 928 1120
1LY | 224 280 326 400 480 588 696 840 872 1040 984 1216 | 1440 | 1720
2’ 432 536 648 776 936 1140 | 1344 | 1640 | 1680 | 2040 | 1920 | 2360 | 2840 | 3400
2-1/2> | 696 860 1032 | 1240 | 1512 | 1840 | 2160 | 2640 | 2720 | 3280 | 3120 | 3800 | 4600 | 5480
3 1272 | 1520 | 1860 | 2200 | 2640 | 3240 | 3840 | 4640 | 4760 | 5720 | 5520 | 6680 | 7800 | 9600
3-1/2> | 1848 | 2200 | 2680 | 3200 | 3960 | 4872 | 5640 | 6800 | 6960 | 8400 | 8000 | 9680 | 11800 | 13800
4 2560 | 3200 | 3800 | 4640 | 5640 | 6760 | 7920 | 9600 | 9800 | 12000 | 11520 | 13840 | 16800 | 19600
5” 4800 | 5720 | 6720 | 8400 | 9760 | 12000 | 14280 | 17000 | 17520 | 21000 | 20400 | 24400 | 30000 | 34400
6” 7680 | 9200 | 11280 | 13200 | 15840 | 19400 | 22800 | 28000 | 28800 | 34400 | 33600 | 40000 | 7600 | 56800
8” 15600 | 19200 | 22280 | 28000 | 32400 | 40000 | 45600 | 57200 | 58000 | 70800 | 66000 | 82000 | 96000 | 118000
10" | 28800 | 35200 | 40800 | 50400 | 60000 | 72800 | 84000 | 104000 | 104800 | 128000 | 120000 | 148000 | 170800 | 208000
12” | 45600 | 54800 | 66000 | 78000 | 93600 | 113600 | 132000 | 160000 | 164000 | 198000 | 192000 | 230000 | 271200 | 324000
STEAM CAPACITY : based on Moody Friction Factor where flow of condensate does not inhibit the flow of steam.
ASTM : American Society for Testing Materials Schedule. The number 40 refers to the ASTM Schedule. The letter (S) refers to the former
designation of standard weight pipe.
PRESSURE : Theflow rates at 3.5 psig can be used to cover saturated pressures from 1 to 6 psig. And the rates at 12 psig can be used to
cover saturated pressures from 8 to 16 psig with an error not exceeding 8%.
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